Tender Heart High School, Sector 33B, Chd.

Class : 10th Date : 2.12.2024

Subject : Mathematies
Te.acher 2 MS. Reend/ ,
Greneral I”Sfrucf:'ons:_

1y AL working, includin rough work , must be
cﬁearﬁg shown and must be done pn the

) Same. shee"tp as H‘Le, re,_c't 010 é/le, answey.

2 OMI'SSI'on 0 eSSen{-‘ﬁ k i ,ﬂ 6{1‘ v% &
will result in the .é:ss "‘ﬁg" ﬂrgn.c : y 4 )

5> The. intended marks for Zuesf/'ons or ,barlLs
ol guestions are givg_h in brackets [ ].

Lf) The gue.sft'on paper consists of 12 Zue_\'zél'olz.r
divfcleol iﬂl’fo 2 sections A and B Yo rnarks

each.

Practice Paper 1

SECTION - A (Yo marks )
(Attempt any Four guestions Prom this section)

Question |

(@) Find the Vaﬁue.s 010 w which Saffs%/ the
inezuaiion 2% =5 =5 +Y 2 | P whene_ XEC I
Re#rase_nf: it on the numbe, -éc'ne,. [3m]

b 3 1 1 -

® 1p 22 4]+[1 ] _[I'i 2] Find the.

values of x and ¢ ~ Page £ — sk



Ms. Reena

CQOSS X Mathematics

(c) (/Sl'na facfor Hle,orem, show H’:at (x'f‘ LI)
is a factor of @13_;_6])(’-_,_1_12). Hence.,
factorise. the diven exbressioy, com}[efef(y,q

[tm]
Question 2.

@ The sum of the 5th and Gth leyms of an A-P

is 26 and the sum of its 7th and 11th lerms
is 2. Find. the Ppirct three. terms of the A-F.

Gm
(b) USMS the }Dro,ber/:fes of proportion, bind the
value OP % , when -x-q'f'l = 1% [3mJ

b 8
() Use a’”a}’l’ /’Cllﬂer and take 1cm = 1unit
aﬁon(? both X-axis and (y-aou's
() Plot the koin‘ts A C—2/2> and BG/, LD
() Reflect A and B in the origin o get A’
ard B’ fe,s}?e_ctLiVeﬁ :
Ui") Write down 4he co-ordinates of A’ and B”
av) Give the 3eomei'rfcal name dor the
‘ﬂigure ABA’B. [m)

Question 3
@ In what ratio does the point & 3,7) divide
the join of A(-5,1) and B CY,-F) ? [Bm)
(b) Prove that sin@tand - 4, .09 Bm)
[- cos@
() Y480 s divided egua/ﬁa among % childyen
If the number of children were 20 more. ,

then each Woujzl have. gof = 13 je.s_c',[m]
Find, the. Vaﬁue_ 010}4.. 4
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Question Y
@ If a,b,c,d are in continued Pro}?oriion,
prove that _a’+b3+c® _ g )
b +cd+d®  d
UD) Three consecutive ve.rfl'ce.s 010 a ﬁamﬁa[o ram
ARcD are A (lo,-6), B(2,-6) and. € (-4,-2),

Pind the fourth vertex . [2m]
) p=[1 2 5 £
FE fomap il oy et
iy :
Question 5

(@) Solve. the e_zuafion 3x*-YBx+Yy =0
Write your answer correct to 2 decimal
PMC% (3 m]

(b) Shobona has a cumwlative time deposit
account in state Bank of India . She deposits
500 per month for a period of Y years.
£ at the time. 012 maﬁcri%{y she aei‘s ?28‘{1@
PLind the rate ol Interest . [3m]

() In DABC,AB = 8cm), A
Ac = Joem and <£B =90°

Pand @ are points on the. Q
sides AB and Ac resloecﬁveéq p
such that PQ=2cm and
2 pPap =90, find
(i) the arvea of DAQP 8 H
(i) anga of guad. PBCQ ¢ Qrea ol AABC (4 m)
~ Page 3~
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Quesfioné

(@) A man obseypyes the th—ze_ of elevation
of the top of a bu:‘lding to be. 30°. He walks
towavrds it in a hor:‘gonfaﬁ dine H’:rouj/l its base..

On Cove_ru'rg 8o m, ‘H'le anqgle. oﬁ e./e,Va?«%” C}’“’b"“

oS0 Eladl e ioighd T8 01 nag g e
to the nearect mefe;g. : G T Bm]

(b) Fl'nd, the ezua{'ion of [—/—,e_ rig/)t bisec tor df

the ﬁl'ne se_amehz‘ J‘Oinrnog the }:oinfs CI/2.> 2_3"5’%]

(5,-6)
() In the given figure , 3¢ ¢ 4

chord paralle( to the
AC of a cipde with cejzz_{t;. "

If Zepd's 70°, caleulate LERE

SECTION - B (4o mayks )
(F)Hemlp’c any four guestions from this Section)

Que.sz‘ion?
(@) Prove that L4, 5mA i icos B |
1— sinA 1- <inf (3m]

(b) In a AABC, D and € are points A
on AB and AC res}ecfive_{]é/ such that
DE || B . If A> = 8cm , BD = Fem
and BC = 12em, Pind the Jengfh

of DE,

Bm
E

& el
() Use the Pactor theorem to factorise com,élez‘ely
x4 x* ~ Y- Y ——Page. Y- Gmj
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Question 8
(@ Solve fon % when [a+x 4 /a=x L% gl
atx — Ja—x

(b> sso“gvz" ihe -ﬂoﬂowhy }HQ_ZMQ{-/'O)? ané{ wn’ée. the.
okution set, Alcg represent it on the numbey

sirte. 13 -5« 155 4y x+12,x R (3m]
() A Y‘ei‘al'jer buag 4 Cameyi _)Brom ) ol saler

for 30000 . He. mayke the price of the camera

20% above his cost price, and sells [t o a

consumer at 0% diccount on the marked

brice.. Tf the rate o¢ GsT 1'5./5’%,7@'/76&

(i> the marked price of camera

(i) the amount which the consumer pays< For

the camera incl u.dlry 4L, (4 m]j

Que.siionq

@ It P (9a-2,b) divides the line Se_oqmeni'
joining Ad(3a+1,-3 and B (8a,5) in the ratio
3:1, dind the values of @' and ‘& Bm)

(b) T8 -Y is a root of the guadratic eguation
.)C.)' —l*}D)C. -4 =0 a)’ld l—}!e 2uadraz‘/‘c_ ezuaé/'on

x>+ px ++ =0 has ezugj roots, Lind. the. e

value of *’ P
(c) Inthe given ﬂr’jure, PQ isa

fanaent 3i-o the circle at A

and BD i Siameter - If : g

£ABD = 36" and £ BDC = 50,

: D U /PAB
calewlate > £ BA &
(i) < BD. i Page‘ 5—
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Hues LLl‘on 15

(@) Find the marked. price. of a, motorbike which

is bought at 59 ‘
g (L) badly ,000 afller /aa(ymc? GSr az_gﬁf
(b fgoha” o[aened, a recurrin de/?o.S/'f dccount
.,/32 a bfm and deposited’ & 800 per monts
r 15 years. If he received = §508Y at the
time of maz‘ur:’[y, ﬂinaﬁ the rate ol interest

Per annum. (BZm]
@ Sodve 1 4 2 - 4
X+ | X+2 x+ Y
Give %/our answey CorrecZ‘ +o zﬁjaces of
decimal. (ym)
Question 11

(o) A }plane_ left 30 minutes Later than the

Scheduﬁeo(/ time and. in order to reach the
destination 1500 km away, in time. , it had %o

‘herease. its sheed by 250 km/hr +rom
the usual Sﬁeeaﬂ. Find its usual speed. 3m]
(b) The. eguain’on ol a Lline is 3x+ ‘{5—7:0
Find (> the 5«40}96— of the g/'Ven line
Uiy the ejuﬂ.ﬁon of a Line Perkend/'ca[br
to the. given dine and ﬁas:/ry z%rocgé
te intersection of the dine x-Y+2%0

and Bx—l—(y—jo =0 (3mJ
(c) Show that the /progre.ss/on
~4,-5,-1,4 ,2,--- js an H-P
2 2.

Find rts < «firs‘f term (1) common dif/erence,

Gir) 25th 4erm. Pag 5 DM')J
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Question - 15

(@ Use a 3raﬁ/) paper to Answeyr the. fofjowify
Zuestjone Take 1cp, = Lunit on both e
AXNes.,

(> Plot ACy,y), B(Y,-¢)
Vertices of a AABc

Cii) Reblo t ABC . on the 4-axis and name
(6 g a7 Bhwr

andc &, 0), the

avd) Give a deometricall name for the. fé?ure,
AR’c’p’Be.
Vo Find its Perimeley. [6m]
() In the give Ligure, i
PQ=QR, LRqP- §8°
PC and cq are
éangenfs to the

Civelo. with centre

0. Caleudate the R\_//Q
Vaﬁues of,-,

i 2Q 0P (i & e p (1m]

0
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